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Properties of Polygons (SgYsii & [UT):
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1. No. of diagonals is = , n is number of sides.
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2. Sum of,f\eu)&erior angles taken in an order i
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P Sum of exterior angles:




3. Sum of all interior angles is = (n — 2) X 180°, where n is

number of sides.

4. Each interior angle of a regular polygon is= ——— (n-2)x<180°
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5.

Interior + exterior =180°
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Hexagon (WeYyv):
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4, Find the no. of
diagonals in a 10
sided polygon?
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2. A polygon has 44
. diagonals. The no.
@ Chae k °P‘f/’m of sides it have is
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3. The difference between
the exterior and interior
angles at a vertex of

0 regular polygon is 150°.
\ \6"'\s The no. of sides of a
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. Each interior angle of a
4 regular polygon is three

times its exterior angle,
then the no. of sides of
L " the regular polygon is
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5. If each interior angle of a

regular polygon is
9 (1287)°, then what is
187 !
\ the sum of the number
- A of its diagonals and the
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6- If the sum of all interior
angles, of a regular

2
@, 2) 180 - .(.9.@% polygon is 1080°, the no.

of sides of polygon is:
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] 7. The sum of all interior
o

Suwn {7‘1.= 360 angles .of .a regular

~ » Polygon is twice the sum

of all exterior angles. The

Qf\.z ) |§0= 720 \ g no. of sides of polygons is
\

6o fRAT wH TgH & wsih
MN= 6 77\~ salk® o F1 Az T
mﬁuﬁa:an-s—mm
| qgdeT A S[ean K3
qE&T:

a) 10 b) 8

c)12 /SYG

— SR




6 8- A1 and A, are two regular polygons. The

@_Z),I8¢‘-'- LQ&V sum of all the interior angles of A; is
1080°. Each interior angle of A, exceeds its

As-» T= g exterior by 132°. The sum of the number of

sides A7 and A, is:
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q.The no. of sides of two

regular polygons is in the
\ %6 I e ratio 5:4 and the difference
\Va between each interior angle

180 190

of the polygon is 6. Then the
no. of sides is
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[o. Two regular polygons are
such that the ratio between
their number of sides is 1 :
2 and the ratio of measures
of their interior angles is 3 :
4. Then the number of sides
of each polygon are
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[1. Ratio of no. of sides of two

@ 'b.qn} 162 16S regular polygons is 5:6 and the
GP A ratio of their each interior angle
|8 15 is 24:25. Then the no. of sides of
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|12. There are two regular
polygons with number of
sides equal to (n—1)
and (n+2) . Their
exterior angles differ by
6. The value of niis
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